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E:) 2.18 2.23 2.20 2.10 2.31 2.14 2.32 2.73 281 1.88 1.15 2.67 278 1.68 213
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= = 2.25 23.9 3.80 29.8
i &= & 2.46 25.8 3.89 32.2
= FS 2.42 26.1 4.24 33.8
= e 2.58 26.3 4.65 34.4
= 52 2.21 22.8 3.90 28.7
FX [==] 2.85 29.4 5.15 37.9
b i 2.78 271 5.26 34.4
= = 2.49 25.2 454 32.3
B3 ik 2.21 24 .4 3.76 29.7
5 *)< 217 23.3 3.72 29.1
B 5 2.38 25.1 4.05 31.0
=2 = 1.98 22.9 3.01 27.4
- 3= 2.08 23.8 3.24 28.6
R R 1.92 20.3 3.21 26.0
== ) 1.98 21.6 3.12 26.7
ESj i) 262 26.3 4.89 33.4
= b 258 27.0 4.63 34.4
a Jil 2.31 24.6 423 31.2
= FH 2.60 25.6 4.69 32.0
L U 255 255 4.44 31.8
= 52 2.81 27.2 5.06 33.5
sz B 2.47 25.8 4.03 31.1
&% 54| 2.38 252 4.08 31.2
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= = 2.43 25.3 4.16 31.2
333 z= 2.11 22.0 3.62 26.8
= &R 2.31 24.8 3.84 30.4
x B 2.07 23.8 3.27 28.8
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= iR 2.89 28.3 5.77 36.7
[z b 2.48 25.6 4.51 31.9
= =3 2.34 24.6 414 30.8
1N} = 2.71 28.2 4.79 35.8
= = 2.71 27.7 4.79 34.2
= J1l 2.58 26.9 4.65 33.1
= bZ 2.62 27.2 4.75 34.0
= %0 2.82 29.0 5.48 36.6
= 5 2.15 228 3.73 28.9
1% = 2.43 24.2 4.45 31.0
= w2 2.55 26.0 4.68 33.1
HE S 261 25.4 4.63 32.0
x 5 2.72 26.9 4.73 34.0
= [ 2.58 26.3 4.54 32.5
BE R 5 262 26.1 477 32.6
s 2! 1.72 17.7 2.93 21.7
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